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O x+(x+1)+ (x+2) =57
@ (x=1)+x+ (x+1) =57
® (x-2)+x+(x-1)=57
@ x+2x+4x =57

® x4+ (x+2)+ (x+4) =57
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1990} 8]F= A4 B2 7I=d Z4+2F A4 3km, A4 4km 2
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B7kA 9] A”E Fatoiet.

a = km



oA =MB7HA] 7h=d W= A% 5 km 2 ZojA 7kl RIS = 30
B Fofl ZAFAAE EFA A1 10 km 2 7 F AR FA] o] Ao
TR i), Holl A EA @R o] AR5 oheiet

B e km



7. 10% 9 A%E 200g ol 482 40g ol Yo AEES s
7} ==71?

@D 10% @ 15% 3 20% @ 25% 3 30%



He) el e] 547t o) Ake] s7pe] el T Ael o] A5t glek,
o] 0] A9 el Sapsh 49 Ae] 54E HITH AT} 180]
Ak, Qo) el 548 x2h ), AL 55 T 0 4o gL

AE?

@ 20x+x=10x+x-18
@ 2x+x=10x+2x+ 18
@ 20x + x = 10x + 2x + 18
@ 10x+x+18=x+10

B 104+ x+2x = x+ 18 + 2x
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@ 900 = 2(700 - x) @ 900 — x = 1400

® 900x = 1400x @ 900 — 2x = 700 — x

® 900 — x = 2(700 — x)
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